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(20 points) In a country, they have five kinds of coins: 1-cent, 5-cent, 10-cent, 21-cent, and 25-
cent coins. Kim is working in a convenience store, and needs to make K cents of change using
For example, to make 23 cents of change, the minimum number

1

the minimum number of coins.

is three (i.e. one 21-cent coin and two 1-cent coins).

(a) What is the minimum number to make 62 cents of change?
(b) Describe a dynamic programming to return the minimum number for a general

problem of making K cents of change.
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